
Economics 5250 Dr. Lozada
Fall 2005 Midterm Exam

This exam has 33 points. There are six questions on the
exam; you should work all of them. Questions 1, 5, and 6 are
are worth 5 points each, while Questions 2, 3, and 4 are worth
6 points each.

Put your answers to the exam in the blue books you have
brought. The figure for the exam appears after the questions.

Answer the questions using as much precision and detail as
the time allows. Correct answers which are unsupported by ex-
planations will not be awarded points. Therefore, even if you
think something is “obvious,” do not omit it. If you omit any-
thing, you will not get credit for it. You get credit for nothing
which does not explicitly appear in your answer. If you have
questions about the adequacy of an explanation of yours during
the exam, ask me.



Answer all of the following six questions.

1. [5 points] The two parts of this question are unrelated to each other.

(a) On p. 64 of your textbook, the authors write, “Calls for ‘no pol-
lution’ thus appear illogical.” Using a graph, explain why this
is incorrect (at least in so far as a single source of pollution is
concerned).

(b) Explain both graphically and in words how the presence of an
environmental assimilative capacity would affect the socially op-
timal amount of pollution.

2. [6 points] Suppose production of a good pollutes the environment.

(a) Sketch a graph showing how the optimal Pigouvian tax is calcu-
lated if output is on the horizontal axis.

(b) Sketch a graph showing how the optimal Pigouvian tax is calcu-
lated if pollution is on the horizontal axis.

(c) Under what situations (if any) is it better, worse, or just as good
to model the optimal Pigouvian tax as a tax on output instead
of a tax on pollution?

3. [6 points] Using Figure 1, compare and contrast a Pigouvian tax
scheme versus a marketable permit scheme with regards to how the
two schemes affect:

(a) total social abatement costs;

(b) profit of Firm 1; and

(c) profit of Firm 2.

4. [6 points] Recently the federal government suggested allowing air-
planes landing and taking off from the Salt Lake City airport to fly
low over parts of Salt Lake County which airplanes are now prohib-
ited from flying low over. What would be the best way to go about
estimating the economic damages which this change would cause?

5. [5 points] Draw two graphs:

(a) The first graph should have time on the horizontal axis and car-
bon dioxide concentration on the vertical axis. Call this the “pol-
icy” graph.
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(b) The second graph should have time on the horizontal axis and
global mean temperature on the vertial axis. Call this the “effect”
graph.

Then answer:

(a) On the “policy” graph, show what will happen if current trends
continue. Show the effect of this on the “effect” graph.

(b) On the “policy” graph, show what will happen if the Kyoto Pro-
tocol were universally adopted. Show the effect of this on the
“effect” graph.

(c) On the “effect” graph, show a return to preindustrial tempera-
ture. What would the relationship on the “policy” graph have to
be in order to have this effect?

6. [5 points] Answer either part (a) or part (b) but not both.

(a) Some extreme environmentalists hold a consequentialist philoso-
phy and some do not. How could you tell which group a particular
extreme environmentalist belonged to?

(b) Some extreme anti-environmentalists hold a consequentialist phi-
losophy and some do not. How could you tell which group a
particular extreme anti-environmentalist belonged to?
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